N & 0l & AF S & M M

20189 = =0l & LB H 2st22
2AMd: 2322
HH: 230z IS (Bt 22 /250 =)
& 230z B (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E ottt 13,601,489 11,215,125 2,386,364
2 1,109,800
J| 76,000
< 955,930
Al 11,459,759
230z dE (2L /250=) 4,059,229 3,455,483 603,746
J| 60,000
= 31,010
Al 3,968,219
23tz &5 3,012,029 2,683,893 328,136
< 31,010
Al 2,981,019
Fstolzs s 98,000 464,000 A366,000
201 et 65,000 13,000 52,000
01 At 22l 65,000 13,000 52,000
OB+t 10,000, 000& 10,000
O23AS A = 2H| 50,000,000& 50,000
O= &l 5,000,000 5,000
202 04l 30,000 28,000 2,000
01 = LH 4 Hi 30,000 28,000 2,000
O=A=Z NI 30,000, 000& 30,000
203 YR =& 3,000 3,000 0
03 AIHF=XH S =AY 3,000 3,000 0
O2st0lzs 2483 RFA 1,000,000 1,000
OFEZsHsLH HEFA 1,000, 000& 1,000
ozZads = 1,000,000 1,000
AL S22 137,200 526,200 A389,000
201 et2 Y| 77,200 66,200 11,000
01 At 22l I 25,200 24,200 1,000
O gBt=+=&H| 12,000, 000& 12,000
O=MaEst2 st&a 22l =25 7¢
1,200,000 1,200
OMHBU=E R4 UHRE 12,000, 000& 12,000
02 2324l 52,000 42,000 10,000
O0z3&E2= & HA 24,000,000 24,000
©FR=a.] 8,000,000& 8,000
O A& &EHlS X bl 20,000,000& 20,000
401 AIE Bl 2L 201l 60,000 460,000 400,000
01 A& HI 60,000 460,000 400,000
OZstANEE HE=> 60,000,000& 60,000
Fsto=#AL X 667,000 320,500 346,500




fAH: S2st22 1
HH: 230z IS (Bt 22 /250 =)
el Bt &S (chel & 9l)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
307 glz2tol & 657,000 302,500 354,500
02 HAHFHYANEEX 374,000 159,500 214,500
OOt =8 ¢2tFdl X 3,000,000& 3,000
OAMEEZ& &2t3dl X& 3,000,000 3,000
o3¢ FAYE ots= 3 X
5,000,000& 5,000
Oz HS23t dsAE 10,000, 000& 10,000
O-g0ld 2 29 20,000,000& 20,000
OSEYSS(3.123 )AL &2t FHl N
30,000,000& 30,000
odgd A&M Meld X 5,000,000& 5,000
oOXgzZE /EH XN& 5,000,000 5,000
O3d Hzdsa3AU= It
2,000,000& 2,000
OAMEN=Z S3HE MY X 5,000,000 5,000
Ot=cg=83 MEXR FEA=M It X
5,000,000 5,000
Ost=mMUEa AAMXT 22H =5 A
A& 5,000,000 5,000
OAME HEEEY tlz=gs 24
15,000,000& 15,000
Ost=0l=83a AEAXE FIIE |
7,000,000& 7,000
OS=dSHASHES MR AZE &
3l Zdl XA 5,000,000& 5,000
Ost=22lstgsl AHEXE MAls AH X
6,000,000& 6,000
Ost==2483a AFANXTE 20tEd X2
5,000,000& 5,000
Ost=0l=83 ABAXNL &0l =U& X
2 12,000, 000& 12,000
Oclols2 dAlgs 3d XIF 10,000,000 10,000
OMAE SHEEY =83 24 X
10,000, 000& 10,000
Oset=0SAEX = 21 ZHl XS
2,000,000& 2,000
oZsel Ch&2stAd ddl XI& 10,000,000 10,000
OANZAE ZHl & 10,000, 000& 10,000
OXtsAM ¢ Bdl X& 16,000,000& 16,000
O4dlL= Re2lte Reliel gH2E2A X2
2,000,000 2,000
01N AE(&=) =2 AHEM X
6,000,000& 6,000
O=0&gal FIlsd& Ad XI& 5,000,000& 5,000
OUEXZ=3 2M - Ordlist dAl XI&
3,000,000 3,000




fAH: S2st22 1
HH: 230z IS (Bt 22 /250 =)
el 2oles &= (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
OArdE A2l DY HI| Z2HS ZH X
2,000,000& 2,000
oge 230te XA 100,000, 000& 100,000
OKBS =&t0te =28 HMA X
50,000,000& 50,000
03 HAHMEE2LHIES 112,000 88,000 24,000
OMEEZ3td 2gHl XA 70,000,000& 70,000
Ost=0SAE X2 234 XI& 42,000,000& 42,000
04 QIZFHALAIH B & 171,000 55,000 116,000
ogd gel stiteg =M K& 12,000,000& 12,000
Ost=0ZE MEXE O 8XEY 823 X
15,000,000& 15,000
Os=lN= sl MEXR Jtse g8l 2
NE ZHl X& 12,000, 000& 12,000
Os=lM=8sl MEXR ISHAEY
A& 12,000, 000& 12,000
ostots8a ddl X 10,000, 000& 10,000
O23t0li=elo & A ZHl 12,000,000& 12,000
o2 & tUas=M N2 12,000,000& 12,000
OMHE =2dSdM & =2 SIR2UE
12,000,000& 12,000
OgEx=2d =AM Bdl XN& 12,000, 000& 12,000
O=28d dcld HZ=A 12,000,000& 12,000
OIS S4H XA 50,000,000& 50,000
402 212t X201 & 10,000 0 10,000
01 212t 2 AL E = (REM ) 10,000 0 10,000
OMBEESE == LI WH
10,000, 000& 10,000
ME23THH K& 1,558,780 842,000 716,780
306 =93 1,558,780 842,000 716,780
01 &3 1,558,780 842,000 716,780
OME2SINE E2H= 1,558,780,000& 1,558,780
d= =320 FEUS 10,000 40,000 230,000
< 10,000
307 glzZtol & 10,000 40,000 230,000
= 10,000
02 It HAMAEE 10,000 0 10,000
O&= =3It U3 & D03 ZHXA
10,000, 000& 10,000
< 10,000
=olEetasA 12,500 12,500 0
=) 6,250
Al 6,250
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EX: S22
HM: R0z VE(SIFL2E /250 =)
& 230z B CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OFAIES o MAIZ ZbHl XN
3,000,000& 3,000
AFE Ol = K 40,000 30,000 10,000
307 2Iz2t0| A 40,000 30,000 10,000
02 QI AAIRE E X 40,000 30,000 10,000
OAMNHEO=H Hbl 40,000,000 40,000
AEAAEZ=2H 00l = X 10,000 8,000 2,000
307 2iz2to| A 10,000 8,000 2,000
02 QI AAIE E X 10,000 8,000 2,000
OMBAAMIZ2HOIA0I=M 2H XA
10,000, 000& 10,000
SIHMESH Y eHaEsa X3 30,000 30,000 0
307 2Iz2to| & 30,000 30,000 0
02 QIZHA AAIE E X 30,000 30,000 0
OBtMAa2stM & StTHaSstal 2 A&
30,000,000 30,000
DI E2sts &= 2021 AIE8E E Al 2,000 2,000 0
307 212t0| & 2,000 2,000 0
02 QIZHEAAIRE E X 2,000 2,000 0
OOl 283 M= S50l A8 A AU
N& 2,000,000& 2,000
A& AFE "OH" S0 S 12,000 10,000 2,000
307 QI2t0| & 12,000 10,000 2,000
02 QI2tAAMAIE E =X 12,000 10,000 2,000
Ost=20=E AEXIE AFEAIE "0H" S 23l
12,000,000& 12,000
Al 224 2A 5,000 5,000 0
307 QI2t0| & 5,000 5,000 0
02 QIZIA AAIE E X 5,000 5,000 0
OAclsel 88 =22 s 2o A N
5,000,000& 5,000
elAel Re2l=E SOIE A 4,000 4,000 0
307 2iz2to| A 4,000 4,000 0
04 QIZ2tSHALAFS B X 4,000 4,000 0]
oO=2lAel 2el=s stoty @A Jl
4,000,000& 4,000
AMEIZOIIIM JF2 A 80,000 35,000 45,000
= 10,000
Al 70,000
307 2iz2to| & 80,000 35,000 45,000




2N
X ZH -
L= B

el

M0 MO MO

Stk
stilzs JE (2L 22/250 =)
stoles &8

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 10,000
Al 70,000
04 QIZFHALAIH E = 80,000 35,000 45,000
O&&EZOILM It M Zdl XI&
80,000,000& 80,000
< 10,000
Al 70,000
NS M K& 12,000 8,000 4,000
307 glz2tol & 12,000 8,000 4,000
04 QIZFHALALH 2 = 12,000 8,000 4,000
ODNHEE HEH XA 12,000, 000& 12,000
oot 2s3¢ 50,000 35,000 15,000
307 21201 A 50,000 35,000 15,000
02 QIZtE A AMHEE 50,000 0 50,000
OX0tIt= E3t 29 50,000,000& 50,000
230z S2AY & Al 50,000 20,000 30,000
307 21201 A 50,000 20,000 30,000
02 B AAFEX 50,000 20,000 30,000
O23toles S2AY ¥ 0H&Hl 50,000,000 50,000
0= 0l 23S 17,000 15,000 2,000
< 4,760
Al 12,240
307 glz2tol & 17,000 15,000 2,000
< 4,760
Al 12,240
02 IZtA M AHE X 17,000 15,000 2,000
OR==0=tH 0= 2SS
17,000, 000& 17,000
< 4,760
Al 12,240
SE230ISHAY 66,949 62,093 4,856
307 21201 A 66,949 62,093 4,856
05 BIZHRIE 3 66,949 62,093 4,856
OSERIAUSAAMY (A BE2)
66,949,000 66,949
23RS AE 22l 4,600 4,600 0
201 Let24d] 4,000 4,000 0
01 At 2teltl 4,000 4,000 0
ORsrsd I W ML HE
2,500 2005 500
OFsmSHI E=AE EE= M|
1,000& 5005 500
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SN 2s2BD
H: R0z ME(HL2Z /280 =)
& 2oz 2 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 4ot R23 5,400,000& 5,400
-RER=(FY) 3,000,000& 3,000
- SB(2HF2L) 240,000 240
—fEYsFNE 120,000& 120
== R == 600,000& 600
-0 ENSAHEES(MII0ER)
100,000& 100
- SEHNsE ¥ 0t 1,000,000 1,000
O =zl 23,000
oz E W .- ez 21,000,000& 21,000
SAIRA HEZ 2,000,000& 2,000
O A& EHI X 50,000,000& 50,000
206 = Hl 15,800 15,800 0
01 MHZ 8l 15,800 15,800 0
O =& &#Z A 7,000,000 7,000
OA=, JIAH, &I MM +¢ 3,000,000& 3,000
OR4«0tola HAHEX 2 1,800,000 1,800
O3dxd SHEI| BHE 2 WA 2,000,000& 2,000
OZ3gddg LM 2 1,000,000 1,000
OXx&=+ LM & HEREY 1,000, 000& 1,000
207 A RO H| 22,000 0 22,000
02 ™A b 22,000 0 22,000
Ot GIOHAIAB RS 22,000,000& 22,000
401 Al HI L 2 THHI 199,000 162,000 37,000
01 A& HI 199,000 162,000 37,000
O3 AZA=XNE =F MU EFSA
22,000,000& 22,000
Otlz=ala THSHMOAIAE WHSA
25,000,000& 25,000
Oz FUHYER XTSI THIAM
15,000, 000& 15,000
OUEHE RUHEX=S A3 A 35,000,000& 35,000
OUSHE RUIIAH AXIMAAIAE &2 A
25,000,000 25,000
OUSHE ZH3Z HHISA 22,000,000& 22,000
OUEHE R0 ==JIHEH Ex=3At
20,000,000& 20,000
Otl=ala XSHIIHA HEEs THIAM
25,000,000& 25,000
Oll=3z2 “FEHA AEE RANES(AHAS)
10,000, 000& 10,000
405 XA SH 134,400 53,600 80,800
01 AL EZFH S 134,400 53,600 80,800




Zst2-Z
20z ME(25L2
=z 2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OLsHE S 30,000, 000& 30,000
oul=3l2 o 1,200,000& 1,200
Ot=sl2 = 8,000,000& 8,000
Ooul=za 3¢ o X WA
27,200,000& 27,200
Ol=z2 ST A8 2l A
16,000, 000& 16,000
OUEHE KA 30,000,000& 30,000
OzdE &= 22,000,000& 22,000
SgH 23 9l 340,000 220,000 120,000
301 L2 A= 340,000 220,000 120,000
09 HALAHIEA S 340,000 220,000 120,000
OJle3d = 340,000
SRS PNE= 120,000, 000& 120,000
o323 ¢ 110,000, 000 110,000
o3 30,000,000 30,000
oz /28 20,000,000& 20,000
clts/#AE3 2 60,000,000 60,000
L2032 3HD 120,000 120,000 0
J| 60,000
Al 60,000
301 et A3 120,000 120,000 0
J| 60,000
Al 60,000
09 #HALAHIZ A S 120,000 120,000 0
O=gl=cxd 3 Mzl 60,000,000& 60,000
J| 30,000
Al 30,000
o= = M= 60,000,000& 60,000
J| 30,000
Al 30,000
BE(RIL2Z/23M 3,832,000 2,323,536 1,508,464
= 1,109,800
< 758,920
Al 1,963,280
23 BE 3,832,000 2,323,536 1,508,464
= 1,109,800
< 758,920
Al 1,963,280
=3 85 XA 37,800 37,800 0
= 18,900
Al 18,900
301 et a = 37,800 37,800 0
< 18,900
Al 18,900
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OME=ESEX EX WY
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EX: S22
M 251 2E(2}UDZ/SIM)
e 23t = (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 350,000
01 Al&H| 700,000 688,000 12,000
OMNESH A28 At 600,000,000& 600,000
= 300,000
Al 300,000
o2& Wazs & A HEZA
40,000,000 40,000
= 20,000
Al 20,000
OHYAI Qa2 HEHZA 20,000,000 20,000
& 10,000
Al 10,000
OFRAHAY a2 HEHZ2A 40,000,000 40,000
o= 20,000
Al 20,000
NESWNEESAS B 64,000 44,000 20,000
= 13,200
Al 50,800
307 QI2t0| & 44,000 44,000 0
& 13,200
Al 30,800
02 QI2tAAMAIE E =X 44,000 44,000 0
O=gua 249 20,000
o MNAE W 10,000,000& 10,000
= 3,000
Al 7,000
o2 Askn 10,000,000& 10,000
& 3,000
Al 7,000
Ogn Ms23t HsAMY 24,000
SYNESE=13m) 12,000,000& 12,000
&< 3,600
Al 8,400
o2 s 12,000,000 12,000
& 3,600
Al 8,400
402 SI2F 20| & 20,000 0 20,000
01 BIZt XA Y S X (KM IHK) 20,000 0 20,000
OSDNE Al&IH& 20,000,000 20,000
st N 23 22 AtY 132,000 75,200 56,800
= 66,000
o= 19,800
Al 46,200
307 212t0| ™ 132,000 75,200 56,800
= 66,000
o= 19,800
Al 46,200




2N S22
HM: 2o 2= (2L /2M)
el 2SN BE EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 DIZtZAAMEE X 132,000 75,200 56,800
O NN S 22 ALY 132,000
SYNFSE=13m] 76,000,000& 76,000
= 38,000
& 11,400
Al 26,600
o2&k 56,000,000 56,000
= 28,000
= 8,400
Al 19,600
S B4 2 HH| 542,640 268,036 274,604
101 @121l 62,640 48,436 14,204
04 JI2ZtHI 22 XNEE % 62,640 48,436 14,204
O23M 2+ & Hb| 17,000
oMZENM G| HEEMN HEREA
10,000,000& 10,000
oJ|Et S MPY S#FHH| 7,000,000& 7,000
O=2SAEE 22 22,820
ocllza 60,2403 1 %233 14,036
SN 60,240 *1H 48 2,892
SR N 60,2403 x1H x 12 723
o N2AAZE4LE 11,300& x1H x225A 2+ 2,543
c4lBE & 20,193,000& *13% 2,626
O23M22l 22,820
oJlE2 60,2403 14 233 14,036
o F X 60,240& *1H 48 2,892
ocXHIXI=H 60,2402 x1H 12 723
o N2 EE 11,300& x1H *225A 2+ 2,543
oc4AIBE S 20,193,000 *13% 2,626
201 LEt2 Y| 40,000 61,600 AN 21,600
01 AR 22| bl 10,000 8,100 1,900
ogst 2| 10,000,000& 10,000
02 3524l 30,000 53,500 A 23,500
o3s2= ¥ 20,000,000& 20,000
O A& &l S Xl 10,000,000& 10,000
206 T2 HI 5,000 3,000 2,000
01 & bl 5,000 3,000 2,000
OYoisSHH <M S8 7Y
5,000,000 5,000
401 Al B 2 0HHI 435,000 95,000 340,000
01 A& HI 435,000 95,000 340,000
O23 M 150,000




2AMd: 2322
HH: 23 E=E(2L2Z/235M)
el B3l BE (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oAl A 232 2IHMAIE E= A
50,000,000& 50,000
o233 M 7 MxE ¥ =32c
100,000, 000& 100,000
OCHE AL =8 HHl 2 A 135,000
oflgz & &4 50,000,000& 50,000
o=2% FH| 50,000,000& 50,000
oXtg XEAIE &X 35,000,000& 35,000
OHTAAZSE AL EH 150,000
ofdileld tEA cl22E 130,000, 000& 130,000
oZe 230tY Al Ftl 20,000,000& 20,000
fEESM A& & 22 440,860 125,800 315,060
301 gEtE 4= 28,800 28,800 0
1MIIEBELSS 28,800 28,800 0
O=RNNEFREEaM &8 XJ
28,800,000& 28,800
307 gl2tol & 383,000 97,000 286,000
02 IZHE M AHE L 303,000 79,000 224,000
Ogn AAMUM HMeldl X 12,000
oFEH AHM 6,000,000 6,000
o= AHN 6,000,000& 6,000
O AZXtna 2¢% 30,000
o AtE & 15,000, 000& 15,000
o2 et 15,000, 000& 15,000
OFAHMNE =Ml XA 3,000,000& 3,000
OTLEN &2t 200,000, 000& 200,000
OZ AL =& Hdldl X& 3,000,000& 3,000
OoJjdtZi dEHM MaHl X 3,000,000 3,000
OME RE23M EsZ2HEA X
20,000,000& 20,000
ogn JIZ2d M 6,000,000 6,000
OXETFZAL AxHall XA 3,000,000& 3,000
OotE =S stH & AHl XI& 3,000,000 3,000
OANd RS drus2 483
20,000,000& 20,000
03 QIZtHNHE2HHEX 80,000 18,000 62,000
Ogw 2494 XA 30,000, 000& 30,000
OME RE=23M d=u=s2 29H X&
30,000, 000& 30,000
OLXE R d=u=s2 2EH X
20,000, 000& 20,000
308 XX EHH SOl 29,060 0 29,060
08 WEII20HStE = 29,060 0 29,060




2AMd: 2322
HH: 23 E=E(2L2Z/235M)
el B3l BE (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ods=E3 g4 =t XA 29,060
cRAxESE W 5,000,000& 5,000
ocEzxzSE1 5,000,000& 5,000
oclHg=Ss W 5,000,000& 5,000
ocgdYdxzSs 6,060,000 6,060
SR == -] 3,000,000& 3,000
og&dssn 5,000,000& 5,000
sus2 2435 XA 137,500 62,500 75,000
2 55,000
S 16,500
Al 66,000
307 glz2tol & 137,500 62,500 75,000
= 55,000
< 16,500
Al 66,000
02 It M AHE X 137,500 62,500 75,000
OANMESE2SM L2 X3 137,500
cHMFUIEI=Y BEF 137,500, 000& 137,500
= 55,000
< 16,500
Al 66,000
EXNE 2 #@48d JlEe &4 20,000 16,000 4,000
< 6,000
Al 14,000
207 A O &l 20,000 16,000 4,000
< 6,000
Al 14,000
01 284 20,000 16,000 4,000
OEXNE 23t ol JIEQ &y
20,000,000& 20,000
< 6,000
Al 14,000
LES ASAIE AXA 150,000 0 150,000
< 75,000
Al 75,000
401 AIEHI L 2CHEI 150,000 0 150,000
< 75,000
Al 75,000
01 A& HI 150,000 0 150,000
OXNY 2SN AStAE X A 150,000
oAdEEW St ZXJ| L HEEANE &X
35,000, 000& 35,000
< 17,500
Al 17,500
ocz=datw st ZXJ ¥ HEANE &X
35,000, 000& 35,000




2N
X ZH -
L= B

el

M0 MO MO

i)
£

=2AMH
0

ol toli Lol

HL HT

R
Eli]
ton
el
sl
0
~
Mo
ton
=

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

SHUA ABIAIE EX

H

Al
80,000,000&

=

17,500
17,500
80,000
40,000
40,000

[Pl

Ot
=
v
0z
=
=
I>
oz
4
K
=
R

= HnH

432,000
216,000
108,000
108,000

432,000

402 QI2tXt=01 &

= n W

432,000
216,000
108,000
108,000

432,000

o
)
e
N
>

F2AMSEZ(0IEMS)

LA 2=AY

©
=
O
=
Ll

0
JE
ra
>

oS A

198,000, 000&

= MW

234,000,000&

= N H

432,000
432,000
198,000

99,000
49,500
49,500

234,000

117,000
58,500
58,500

432,000

= M

69,000

34,500
34,500

69,000

H

Al

69,000

34,500
34,500

69,000

10 I 2S00 &t

38
OJIOFAL =& &8

69,000,000&

H

Al

69,000

69,000

34,500
34,500

69,000

e

Jl

= M

5,611,280
16,000

166,000
5,429,280

5,349,906

261,374

Il

H

Al

1,794,600
16,000
66,000

1,712,600

1,277,580

517,020

1,007,600

981,000

26,600

601,100

294,000

307,100

40,000,000&

483,100
396,100
40,000

230,000

253,100




=

R M
0K Of tou
e K

o

21
AN SH(Estd22/2E)
Dot 25

SA B SR(SH) - HRAY - BES ke &l
o AbE 2t ZHOHLY AL Ml E 40,000,000& 40,000
oHME2Z JH0IES MZE 40,000,000& 40,000
CNHBBERSS 00ty N

5,000,000& 5,000
SNEISO 2183 L ZAE M
2,000,000& 2,000
cAtdZZ EE2 MZE 70,000,000& 70,000
SMNHEBE U 00INZD AL X2
14,100, 000& 14,100
oMEX5HE S5 001X ZD2
10,000, 000& 10,000
oMEXsHE LM 001X BDE
16,500, 000& 16,500
oNESHSHAEDNE 00X 2DE
12,000, 000& 12,000
oAN=29 001X 1= 66,500,000 66,500
oMZXIotE OI0IXl 2102 15,000, 000& 15,000
oc&EHOE Ol0IXNZ0Z 10,000, 000& 10,000
o7 HOIE Ol0IXNELDZE 10,000, 000& 10,000
o2 AHDOIE Ol0IXI&ALNE 10,000, 000& 10,000
o NEBITIFH0IZ3t EOIE 00X 22
20,000,000& 20,000
oAt 22 EF Bt =2t 15,000, 000& 15,000
ONZAIABAEDE 010IN2D & SHE 2
234 2g 20,000,000& 20,000
OXAAI BY AT 20 T
20,000,000& 20,000
OZUAZE S 222 15,000, 000& 15,000
oz 224 41 10,000, 000& 10,000
Ozt =&s &I Al 20,000,000& 20,000
ogtgs I8 2= MA 2,000,000& 2,000
232%4| 53,000 4,000
0Z223 2 MA 5,000
cZEEHE €S RUERS 5,000,000 5,000
O Xt& & Byl 2,000,000& 2,000
O=23&ZSHOIX A 2eldl 24,000,000 24,000
Oost=dAEa EE3A 3lHl 2,000,000& 2,000
CNPEET S 20,000
cZZEZBANLE =HUA 20,000,000& 20,000
HAHZ S HI 65,000 50,000
O . AN= s 29 15,000, 000& 15,000
OANEHOISI 2B BE M2 ATE A
50,000,000& 50,000
SRS 211,500 64,500




fAH: S2st22 1
Hu: RPCA S (SSUBY/BY)
ool BBOITR HE CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 1,500 3,000 A 1,500
OZZTEHEZ sldFA & AsH AlH|
1,500, 000& 1,500
NMIIEEd=s 210,000 144,000 66,000
OHX 222 S KA IMEIE
200,000, 000& 200,000
OAd 2374 AE 324d 10,000, 000& 10,000
307 21201 A 140,000 130,000 10,000
02 LB AAFEX 90,000 100,000 210,000
ONME2ZANE E2=2 HA K&
10,000, 000& 10,000
OAME2Z0txt 2435 XA 20,000,000& 20,000
OXGEHE AFS X (30HAHY) 30,000,000 30,000
ORgd8a 2= M&E XN&  30,000,000& 30,000
05 BIZHRIE 3 50,000 30,000 20,000
OMHBAZAIEIENH 29 50,000,000& 50,000
308 XXIEHHSOIA 10,000 10,000 0
07 IXNSHH AR E = 10,000 10,000 0
ONRZd 22E23s 38 M
10,000, 000& 10,000
401 A& HIZ 2018 40,000 390,000 A 350,000
01 A& HI 40,000 390,000 A 350,000
OAEHICHHIOIE3L HOIE 22822 &X
40,000,000& 40,000
405 XHoHF S HI 5,000 10,000 A5,000
01 AL EZFH S 5,000 10,000 A5,000
OzstZai&Ate & &Il 7€ 5,000,000& 5,000
22O A RS 100,000 120,000 220,000
< 40,000
Al 60,000
401 Al HIZ 201 8] 100,000 80,000 20,000
< 40,000
Al 60,000
01 A& HI 100,000 80,000 20,000
Oz=tZotlf EXE Md 2 e+
100,000, 000& 100,000
< 40,000
Al 60,000
FBHEA L 292,000 126,580 165,420
J| 16,000
< 26,000
Al 250,000
201 Let2d] 5,455 2,700 2,755




EA: St
Hu: BBCA S4(2HUDY/BT)
el RZoIma 25 (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Pl 1,015
& 440
Al 4,000
01 AP 22| d| 4,120 2,000 2,120
Ot ZHE A BHIMNA 4,120,000 4,120
Jl 680
[ 440
Al 3,000
02 24| 1,335 700 635
Ot ZHE Al SHAMMNEEZ 1,335,000& 1,335
J| 335
Al 1,000
301 Lt A= 286,545 123,880 162,665
J| 14,985
= 25,560
Al 246,000
09 HAIAHI BEAZ 8,335 4,000 4,335
OS2 H&EsEs FIIA Al Ba
8,335,000& 8,335
J| 335
Al 8,000
11 J|EtE A2 278,210 119,880 158,330
O3 ZLHEAI ESH| 272,850,000 272,850
Jl 13,990
== 24,860
Al 234,000
O2st&Zol& A Il =H| 5,360,000& 5,360
J| 660
= 700
Al 4,000
22H X HEN 30,000 50,000 A 20,000
307 2izto| A 30,000 50,000 A 20,000
02 QIZIA AAIE E X 30,000 50,000 A 20,000
o2& X HEW A ZHl 20,000,000 20,000
09T SHMEH 23 - BRSO AH|
10,000,000& 10,000
APE S22 oKX= A 25,000 0 25,000
201 et 25,000 0 25,000
01 AP 22| H| 25,000 0 25,000
OAMNHE SE2HZOMUXNE HH| 25,000,000 25,000
FAZX SF4& M 20,000 0 20,000
201 et | 20,000 0 20,000
01 AP 2t 2| bl 20,000 0 20,000
OF2&ZX A AH(VR) HIZE 20,000,000 20,000




2N
X ZH -
L= B

el

R M

Stk
Z2TA SH(Bstd2d/2E)
Z2olmet &5

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
U 2Z2WF gAY 20,000 0 20,000
301 g4 = 20,000 0 20,000
06 BI2HRI = 2| (4 HI 20,000 0 20,000
022 22Z2uUF FHAZ 20,000,000& 20,000
HFAE OHLY X ALY 300,000 0 300,000
307 2Iztol ™ 300,000 0 300,000
05 RIZHRI &3 300,000 0 300,000
O2Z&E Y XA 300,000, 000& 300,000
o2 e 3,316,680 4,072,326 AT755,646
< 100,000
Al 3,216,680
HEFANEE 22 224,836 222,326 2,510
101 124 dl 17,836 15,326 2,510
4 JI12ZtHZ22XREES 17,836 15,326 2,510
OZZAEE 2l 17,836
ool 60,2403 x2H x115 13,856
oFXtxg 60,2403 x2H x 162 1,928
o=0dg & 401 EEZ  15,784,000& x13% 2,052
201 L2l 157,000 157,000 0
01 At 2t 2l 12,000 12,000 0
OBt~ 12,000
cZFANEE 22ES 2L 10,000, 000& 10,000
o RoAH =& 2,000,000& 2,000
02 2524l 145,000 145,000 0
O A& ZEHls X bl 34,000,000& 34,000
03223 % HA 11,000, 000& 11,000
OMEZUHWESE 2ZANEE HIl,=ER=
70,000,000& 70,000
osdE=U &I, === 30,000,000& 30,000
401 AIEHI L 2CHEI 50,000 50,000 0
01 A& Bl 50,000 50,000 0
OAx7l Z2FANES B+ & FH
50,000, 000& 50,000
NSNS ZLEAMS 200,000 400,000 A200,000
< 100,000
Al 100,000
401 AIEHI L 2 CHEI 200,000 400,000 A200,000
< 100,000
Al 100,000
01 A& HI 200,000 400,000 200,000




fAH: S2st22 1
Hu: RPCA S (SSUBY/BY)
el 222 Y CEE-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONHENEERANASZ ZLHAY
200,000, 000& 200,000
= 100,000
Al 100,000
AEAE 22 ALY 630,000 0 630,000
401 Al HI K 201 I 630,000 0 630,000
01 A& HI 630,000 0 630,000
OMBAE 2ZHAS ALY 600,000,000& 600,000
OAMEAIE & EX LEOHE =4
30,000, 000& 30,000
HE IQHMIBLE =8 A4MZ =4 500,000 0 500,000
401 A& HIZ 201 Y| 500,000 0 500,000
01 A& HI 500,000 0 500,000
OHIE RGBT Fo MM X4
500,000, 000& 500,000
H=2d HOHHIIAMHEZ B & HE 500,000 0 500,000
401 A& HI R 201 I 500,000 0 500,000
01 A& HI 500,000 0 500,000
OEE2X HOIIIANMR B4 L o
500,000,000 500,000
=20IIEEE JI2s &1 80,000 0 80,000
401 AIEHI L 2 CHEI 80,000 0 80,000
01 A& Bl 80,000 0 80,000
O=CHIIBEE JI28 &X 80,000,000& 80,000
=2 0HIIEEE CCTV & X 100,000 0 100,000
401 Al HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
O=20r8&H CCTV & Xl 100,000, 000& 100,000
HEZIHNESY SAEU BHAANE FH 100,000 0 100,000
401 Al HIZ 2 048I 100,000 0 100,000
01 A& HI 100,000 0 100,000
OMEZUHWESE SA=2==0U BHAAIL HHI
100,000, 000& 100,000
MAEEZIHNSH =42 EdA 4 500,000 0 500,000
401 Al HIZ 201 Y] 500,000 0 500,000
01 A& HI 500,000 0 500,000
OYHELHWSE 42U Eddr &3
500,000, 000& 500,000
HE T 2 22 181,844 0 181,844
101 14 Hl 141,844 0 141,844

_20_




2N

=]

Zat2g
H: 2ZCA SH(2sHL2Z/2)
e S22 oY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 141,844 0 141,844
©eolAdl S 141,844,000& 141,844
201 Let2d] 40,000 0 40,000
01 At 22l 5,000 0 5,000
oHE #EE =24 5,000,000& 5,000
02 =224l 35,000 0 35,000
03322 % HA 15,000, 000& 15,000
OA&ZH Rl 20,000,000& 20,000
off ot H 2 H Hl 300,000 0 300,000
401 AIEHI L 201 300,000 0 300,000
01 A& Bl 300,000 0 300,000
ORYHAN M4 U =0l H|
260,000,000 260,000
OMFZUHWERY REH RB&w F=H FHH|
40,000,000& 40,000
gofitAZHAEXH 500,000 0 500,000
Aot =4 500,000 0 500,000
401 A& HIZ 201 8] 500,000 0 500,000
01 A& HI 500,000 0 500,000
Aot X W JIgtAlE X4 500,000,000 500,000
HE2AZH (2322 0)(JIEH/IIE) 98,980 86,200 12,780
Jl2&dl 98,980 86,200 12,780
JlE2&l 98,980 86,200 12,780
201 et 10,000 10,000 0
01 At 221l 10,000 10,000 0
O g+t 7,000,000& 7,000
O= &l 3,000,000& 3,000
202 o4dl 84,000 72,000 12,000
01 = LH o4 1l 84,000 72,000 12,000
O2LEZ NI 280,000& x25%H »12& 84,000
203 YR =] 4,980 4,200 780
04 EAS2IYRFLH| 4,980 4,200 780
ORN2IEYRF=AHI 415,000& 123 4,980




